ITEM NO.

N 00N O WY —

NV 0N O NN — O

UNLESS OTHERWISE SPECIFIED: FINISH:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:  + 0.2
TOLERANCES:
LINEAR:  +05
ANGULAR:  +0.5

NAME SIGNATURE
DRAWN RPJUCO
CHK'D
APPV'D
MFG
QA
COPYRIGHT PROPRIETOR

THIS DRAWING IS THE PROPERTY OF CROPLANDS PTY. LTD.
ID MUST BE TREATED AS CONFII

6

PART NUMBER

MAX-LEVEL-1
MAX-LEVEL-2
MAX-LEVEL-3
MAX-LEVEL-4
MAX-LEVEL-5
MAX-LEVEL-6
MAX-LEVEL-7
MAX-LEVEL-8

N/A

DATE REVISION

020514

MATERIAL:

ANI Ti Al DENTIAL.
REPRODUCTION OF THIS DRAWING (OR PART THEREOF) OR COMMUNICATION OF

ITS CONTENTS IS PROHIBITIED WITHOUT THE CONSENT OF CROPLANDS PTY. LTD.

WEIGHT:

N/A

DESCRIPTION
MAIN FRAME SELF LEVELLER
RETAINING PLATE TOP
RETAINING PLATE SIDE
LOCK PIN
SPRING
TIE ROD ADJUSTABLE
NYLON PAD TOP
NYLON PAD SIDE
PVC PLUG S50MM SHS
PVC PLUG 40MM SHS
M20 FLAT W ASHER ZP
M12 X 150 HEX HEAD BOLT HT ZP
M12 X 125 HEX HEAD BOLT HT ZP
M12 FLAT W ASHER ZP
M12 HEX NUT HT ZP
M12 NYLOC NUT HT ZP
M12 SPRING W ASHER ZP
ROLL PIN 5SMM DIA ZP
R-CLIP 3MM ZP

DEBUR AND
BREAK SHARP

DO NOT SCALE DRAWING

QIY.

N A 0N BMBEMNNONMDND—N——

N
o

— A h O~ @©

MAX-LEVEL PARTS ILLUSTRATION

THIS DRAWING IS FOR ILLUSTRATION PURPOSE ONLY
PLEASE REFER TO THE PARTS LIST.

ISSUE A

CROPLANDS

A NUFARM LIMITED COMPANY

TITLE: FARMATE

MAX BOOM SELF LEVELLER PARTS

ILLUSTRATION

DWG NO.

MAX-LEVEL

SCALE: 1:7.5

A3

SHEET 1 OF 1



	Sheet1
	Drawing View1


